
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

8234.6 × 0.001 = ________ 6757.1 × 0.01 = ________

6645.9 × 0.0001 = ________ 9564.8 × 0.1 = ________

5011.6 × 0.01 = ________ 9536.7 × 0.0001 = ________

8259.5 × 0.1 = ________ 3154.2 × 0.001 = ________

7113.2 × 0.01 = ________ 2606.6 × 0.001 = ________

5535.2 × 0.01 = ________ 3408.7 × 0.001 = ________

9518.8 × 0.0001 = ________ 4439.7 × 0.1 = ________

6472.5 × 0.001 = ________ 3903.1 × 0.1 = ________

9779.8 × 0.01 = ________ 7985.1 × 0.01 = ________

5600.4 × 0.1 = ________ 7498.3 × 0.01 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

8234.6 × 0.001 = 8.2346 6757.1 × 0.01 = 67.571

6645.9 × 0.0001 = 0.66459 9564.8 × 0.1 = 956.48

5011.6 × 0.01 = 50.116 9536.7 × 0.0001 = 0.95367

8259.5 × 0.1 = 825.95 3154.2 × 0.001 = 3.1542

7113.2 × 0.01 = 71.132 2606.6 × 0.001 = 2.6066

5535.2 × 0.01 = 55.352 3408.7 × 0.001 = 3.4087

9518.8 × 0.0001 = 0.95188 4439.7 × 0.1 = 443.97

6472.5 × 0.001 = 6.4725 3903.1 × 0.1 = 390.31

9779.8 × 0.01 = 97.798 7985.1 × 0.01 = 79.851

5600.4 × 0.1 = 560.04 7498.3 × 0.01 = 74.983
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